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0 Y Ho CR(UBSIHMT/ULEY) 670,456 530,756 139,700
2l ot AR E 570,456 480,756 89,700
O=dd 28X 165,800 129,400 36,400
301 LEENS 165,800 129,400 36,400
o7 8% -0 - H¥Es243 162,430 126,030 36,400
ool ges 24 158,080 121,680 36,400
—Jl=2=g
2 400,000 x26H~ 1204 2 124,800 93,600 31,200
—&03 ZE 400,000 x26H 23] 20,800 15,600 5,200
Mgt MEed &d 48,554 45,254 3,300
201 fer= 3| 46,054 42,754 3,300
2 3522l 39,554 36,254 3,300
OAIEEHl |XIbI 27,500 24,200 3,300
—3S3EY 2| FAH| 26,700 23,400 3,300
SILSNSEFI| 2R
30,0002 100 A+ 1102 3,300 0 3,300
Moltiel & S2=+ 100,000 50,000 50,000
401 AlEHIYL S THYI 100,000 50,000 50,000
01 Al&HI 100,000 50,000 50,000
OEHZS1Ulol S THHCHHI ZHIAY
Z& 100,000,000 100,000 50,000 50,000
HE g0 =4 100,000 50,000 50,000
FO=JAMY FH 100,000 50,000 50,000
401 AlZBIL LY 100,000 50,000 50,000
01 AlEZHI 100,000 50,000 50,000
Olzd F=odg X2AA
Z& 100,000,000& 100,000 50,000 50,000
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] 73,650 71,84 1,796
el 24| 73,650 71,84 1,79
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=
FE 11,6023 x4 *30A1 2t 1200 2 16,707 16,300 407
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Jl23HI(12) 153,830 152,510 1,320

201 L2 100,010 98,690 1,320
02 S22l 27,050 25,730 1,320
Os82=2 & HA 21,300 19,980 1,320
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